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L& EEFIE AL iE & B 753,386 0 753,386
401 Al&HIZL S0 753,386 0 753,386
01 Al&Hl 748,000 0 748,000
OROIEESFXE EF3A 258,000,000& 258,000
OBEZSFIE EF3A 490,000,000 490,000
03 Al&S0HHI 5,386 0 5,386
O&0IZZFXE Ex3At
258,000, 000& *0.72% 1,858
ORBHBFNE 24BA
490,000,000% *0.72% 3,528
FAUFRES A2 (NEAMY) 302, 160 302, 160 0
FIRES FX2 302, 160 302,160 0
401 A&HIZL S| 302, 160 302,160 0
01 Al&dI 300,000 300,000 0
O8N SN2 SA 300,000,000& 300,000
03 AlIZ=0HHI 2,160 2,160 0
OFx7Ed KRAZCISAM
300,000,000&+0.72% 2,160
YA ZH (RSAIED) 39,960 0 39,960
QlARAH (REAIY) 4,200 0 4,200
=palsl 4,200 0 4,200
203 PRF=&H] 4,200 0 4,200
04 EA2ILSFEHI 4,200 0 4,200
ORNM2IIRFAI 350,000 12& 4,200
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2N 1
o
|

S JI=23dI(SAt (eto: &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
J=ZHI(LSA) 35,760 0 35,760
et Y| 17,040 0 17,040
201 Ler2dd| 17,040 0 17,040
01 AR 2t2|bl 17,040 0 17,040
OFAMESIIZ22HI 15,600
—2e-E 50,0002 *13& »12& 7,800
—=l 50,0002 x13&* 12 7,800
O=ADILR= 120,000& « 122 1,440
Gl 18,720 0 18,720
202 OdH| 18,720 0 18,720
01 =UWoHI 18,720 0 18,720
gRFII|I=20HYI 120,000 x 13« 12E 18,720
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L ROTEAINE

2t

M el DESP I
Erel: X238 HA (LSAHY) (eto: &)
SA B ER(S) - MRAE - BaS Of &r e HIDE
F0IF A= 1,027,077 1,792,275 AT765,198
delgt wssd &4 925,226 1,532,802 607,576
FI23 N (LSAY) 925,226 1,532,802 607,576
= NS 402,686 729,302 A\326,616
201 LBty 356,046 560,782 N204,736
01 AtR2eld| 54,328 172,284 A117,956
Ottsd SZ0AE 7,0008 18«14 » 12 21,168
OZFXt2IEH ABIH HIE 702 %40, 0000H 2,800
OFXt28 MESXIAM MZ 70,0002 1208t A 8,400
O£ E PDAZ + 1,000& * 13001 *12& 1,560
OH=£SRY II=H(aE828) 20,400
—22=(&E0H,F=3) 250,000& x20& 23] 10,000
—get= 250,000& 20 5,000
—=2235 100, 0003 x20& 2,000
— et 150, 0003 x20& 3,000
2% 20,0002 20 400
02 3323l 301,718 388,498 A86,780
Ott=2 Syil=t| 100,000 +7& 700
OH=EAE MAMsU= 6,750
—28= 4,700
EN=PN, 300,000 =94 2,700
S8 1,000, 0003 *2CH 2,000
— AS Al 2,050
En=PN} 50,0002 *9CH 450
SEX 800,000 +2CH 1,600
Ottsite =Rl 31,900
—H=H| 200,000 «11CH+12& 26,400
—==clH| 500,000 =11CH 5,500
Ogt=Zbl=2ldI(3tn2t,POA, R ADI)
100, 0003 «20CH 2,000
OFdEHSANAY |X 24|
2,520,000& »3CH 7,560
OH£E POASHE 10,0003 x21CH* 123 2,520
OoR¥Ee= 250,000,000 250,000
OEgl=IIIX= ds2d NEZ
24,0002 122 288
202 OH| 30,240 107,520 AT7,280
01 =L 30,240 107,520 AT7,280
O=X}I8t XISE= O]
10,0003 x18F ~ 142 x 122 30,240
206 =4 14,000 20,000 26,000
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A E0IFAIAS

M Helst wseEd =4
Chel: FXE23 HE (LSAHY) (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
01 M=zl 14,000 20,000 26,000
OE=0] FEXSXIHHE &X
50,000 *280H 14,000
301 LEtEA3 2,400 17,000 214,600
09 BUZRRIEELS 2,400 17,000 A 14,600
OU&BEZ2LQ8 S2OHAL)
5,000 x2E 2012 2,400
MEs SR 522,540 803,500 A280,960
201 2Bt 513,540 782,800 A269,260
01 AtR22lt| 82,940 113,600 230,660
OUEHESIXA ME 2 SHAS 50,000
— XM HIZ 60,000 x2Z *3008 A 36,000
—SE LA 2AFLF 70&*200,00024 14,000
O M 50%*30,000% 1,500
OZdY I=5ZTelHI|l || 6,240
—3d3a 200,000& x»45*43| 3,200
—=Zelf)] EH & E- 380,000 <8K 3,040
OJAAHEAME =2 80& #4504 x200 7,200
O&E3HE =2 ===  600,000,000&*3/100 18,000
02 2524l 430,600 669,200 A238,600
O&tdl==eldl 1,600
—SESEII 200,000 *43] 800
—ZgH 200,000 *43] 800
OFFXtTe N RIS+l
1,000,000& x12& 12,000
OoRERa 417,000
=l 1,750 %7,00021* 123 147,000
— 2t 2503 %90,00024 122 270,000
303 &3 3,000 5,000 A2,000
01 Z&3 3,000 5,000 A2,000
OFHXAALNEE B az 3,000,000& 3,000
802 BtEt=JIEt 6,000 7,500 A1,500
03 Hd=as 6,000 7,500 21,500
O=&X2EtNEE U SF3
1,200,000,000&*0.5/100 6,000
HYSAFHI (A0 R AIAF) 101,851 259,473 A157,622
QAR A (LS AHY) 55,051 78,813 N23,762
lials] 55,051 78,813 N23,762
101 Q12| 55,051 78,813 N23,762
03 RIAHA2 2N E s 55,051 78,813 N23,762
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FA AOIFAEAIAEL
B HY2AAH(ROIREAASD)
Chol: ol 2 il (DEAMY) (=E R L
SA B ER(S) - MRAE - BaS Of &r e HIDE
OFXHEE X Q12| 50,208
—Jl=z=s 1,220,360 x2Hx 123 29,289
—&0= 1,220,360 x2&H 42 9,763
—H2SA=E 60,0002 «2& » 12 1,440
—o2SIHS 42,0803 x2F «9E » 128 %65/ 100 5,909
—gRaErE 42,0802 x2E » 19 1,600
—AZAZRE  6,1303 2 *15A1 2123 2,207
OFAHEEXE JUHEE= 4,843
—ATHES 50,208,0002%10/1,000 503
—JIEEE 50,208,000 %13/1,000 653
—=2ld3 50,208,000 %45/ 1,000 2,260
—2d3=E 50,208,000 #26.65/1,000 1,339
—CFIQLEE  1,339,000&+65.5/1,000 88
JI2ZH(LEAY) 46,800 180,660 A 133,860
2et=gl 20,880 88,500 A67,620
201 Ler2dd| 20,880 88,500 A67,620
01 AtR2elH| 20,880 88,500 AB7,620
ORAME2EII22H] 19,440
—2e-E 40,0002 x18&*122 8,640
—=l 50,0002 x18&* 12 10,800
O=AHl SXt= 120,000« 10 =122 1,440
Gl 25,920 92,160 66,240
202 OdH| 25,920 92,160 A\66,240
01 =Ll 25,920 92,160 266,240
PRI 20 120,000 x 18+ 122 25,920

_14_




AT AMNTFZAIAS

B pels nE8Y X4
&Rl =X28 WS (LS M) (e &2
SA - HH SR (B) - MRAY - BAS il &t e imE=T
D2AREAIAF D 301,238 0 301,238
Helst nEdd 24 279,638 0 279,638
FA23 N (RSAY) 279,638 0 279,638
FEI Nk 99,218 0 99,218
201 2Bt 78,778 0 78,778
01 AtR22ltl 22,648 0 22,648
Oth=3 E20HAlHI 7,000 x8H x 14123 9,408
ORI ABIH Y AMEMSXA HE 4,480
—AEIH 702 %16,0000H 1,120
— A S KA 70,000 488 A 3,360
Ott=Z PDAE ¢ 1,000& x50 x12& 600
OH=3Z32F 1= 8,160
—2R=E(&E0HFS) 250,000 *x8H *23 4,000
—2et= 250,000 x8H 2,000
—22st 100,000 x8H 800
—Yetst 150,000& 8 1,200
— 2 Xt 20,0003 ~84H 160
=322l 56,130 56,130
Ot=xte MA3u= 2,850
— XS XAl 950
EAR=-DN; 50,000 3CH 150
E=PN] 800,000 *1CH 800
—28= 1,900
EAR=DN} 300, 000 *3CH 900
SEX 1,000,000& *1CH 1,000
Ott=xte K] 11,600
— =l 200,000 x4CH 12 9,600
—==cdl 500,000 *4CH 2,000
Ot EH4=2lul (3102, PDA) 100,000 *6CH 600
OFHE A AE SR 2]
2,520,000 *2CH 5,040
Ott=Z POASHE Z 10,0003 «7CH 123 840
ORER2(SI1) 1,750& %20,0004 35,000
Ott=3 ZAX=HI 100,000 x2H 200
202 G4d| 13,440 0 13,440
01 2L 13,440 0 13,440
O=FXt<er NE =S ol
10,0003 +8H 142 x12& 13,440
206 M= 4l 4,600 0 4,600
01 MW=t 4,600 0 4,600
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AT AMNTFZAIAS

i melst NS FA
&Rl =X28 WS (LS M) (el &)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
OF=0l FEXSA e X
50,0002 924 4,600
301 LEtEAz 2,400 0 2,400
09 BUZRRABLZ 2,400 0 2,400
Os2E B2 S|
5,000 x2H+x20 x 123 2,400
JEs SHE S 180,420 0 180,420
201 YLEr23H| 177,420 0 177,420
01 AtS2elH| 25,820 0 25,820
OMHZIXAM H& 2 = 2 15,500
— DKM = 60,0002 25+ 1002 A 12,000
—SEUXA A== 70&%50,000AH 3,500
OSEMH 50&*10,000% 500
ONHIZHI| RAL(EH ¥ =8)
380, 000 x5H 1,900
OJAAHIAMNE =2 80& 12024 %200 1,920
O/EINE =g =5 200,000,000 *3/100 6,000
02 S22l 151,600 0 151,600
O&Hl==2clH| 1,600
—RESEI 200,000 *1CH*42] 800
—Zgd 200,000& 1CH*43] 800
O=&xt&el Z2d RAES
1,000,000& x12& 12,000
OoRERa 138,000
-7l 1,750&+3,00021+ 123 63,000
— et 250& 25,0002 128 75,000
303 ZA&3 1,000 0 1,000
01 Z&3 1,000 0 1,000
OFEXAALtUEZ B+ az 1,000,000 1,000
802 BtEt=DIE 2,000 0 2,000
03 UHd=s 2,000 0 2,000
OFEX2EtYHE U SRz
400,000,000&+0.5/100 2,000
HE2AGU (AR AIZFD 21,600 0 21,600
J2EH(LEAY) 21,600 0 21,600
B2 10,080 0 10,080
201 2pH23HI 10,080 0 10,080
01 AtR2eltl 10,080 0 10,080
ORM2EI 23] 8,640
—YEt==H| 40,0002 x8H «12& 3,840
—= 2| 50,0002 x8H *12& 4,800
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AT AR EZAIAFD
B BHSAAHI(AAPEAAED)
chel: D12l (nEAY) (el &)
— — AN L=
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
O=ADIgXZ 120,000& = 1CH+ 122 1,440
oyl 11,520 11,520
202 0ddl 11,520 11,520
01 =UWObI 11,520 11,520
OYRF=&II=04HI 120,000 x8H 123 11,520
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A 2EFAAASH

M el DESE I
Chel: FXE23 HE (LSAHY) (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
SEACAIA= 275,831 0 275,831
Helst nEdd 24 229,222 0 229,222
FA23 N (RSAY) 229,222 0 229,222
FEI Nk 100,502 0 100,502
201 2Bt 79,842 0 79,842
01 AtS2teltl 22,212 0 22,212
Oth=3 E20HAlHI 7,000 x7 B x14L 123 8,232
OFXt<let AEIH M 702 %15,0000H 1,050
O=Xt2et AHMSXIM HZE 70,0003 #455 A 3,150
Ott=Z PDAZE ¥ 1,000 x50 x12& 600
OH=z2d IISHI(4SEE) 9,180
—22= (&0t - F£8) 250,000& x9H »23| 4,500
—2sEts 250,000 9 2,250
—223t 100,000 9 900
—&Etat 150,000& x9H 1,350
— 22Xt 20,0003 ~9H 180
02 S22l 57,630 0 57,630
Oth=xte MA3u= 2,850
—28= 1,900
=P 300, 000 *3CH 900
SEX 1,000,000& *1CH 1,000
— XS XA 950
=P 50,000 *3CH 150
EPN 800,000 = 1CH 800
OogsxXte | X 11,600
— =2l 200,000 x4CH*12& 9,600
—==cdl 500,000 *4CH 2,000
OSE£EHl |XGI(3t0I2E, POA, 2&DI)
100, 0002 *16CH 1,600
OFHHCIEAIAL ST 22|
2,520,000 =2CH 5,040
Ott=Z POA Stz 10,000 *7CH*12& 840
OoRERa 1,750 *20,000A 35,000
Ott=3 ZAX=HI 100,000& 74 700
202 G4d| 11,760 0 11,760
01 2B 11,760 0 11,760
O=Xtelek XNE = ol
10,000 +7E* 142 x12& 11,760
206 M= 4l 4,000 0 4,000
01 M=l 4,000 0 4,000
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A 2EFAAASH

M el DESE I
Erel: X238 HA (LSAHY) (eto: &)
o - — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
O==0l FEX=A e X
50,0002 *80H 4,000
301 eet2a=s 2,400 0 2,400
09 SA2RLILBHS 2,400 0 2,400
OH=EX =9222d S20AH]
5,000 x2H 202« 122 2,400
405 KHakE =4 2,500 0 2,500
01 TS SF S| 2,500 0 2,500
O cold=Z2le] P& 2,500,000& *1CH 2,500
s faE s 128,720 0 128,720
201 &er=gHl 125,720 0 125,720
01 At2teldl 25,120 0 25,120
ONMEHZIXIA MZ & &3 ?& 14,800
— XA M= 60,0002 x2S+ 1002 A 12,000
—SEUNAM A= 702 *40,000A 2,800
OS& M 502 +10,000& 500
OD&TEEI EY 2 S 2
380,000 *57H 1,900
OHHH MBF== 80 1202200 1,920
OMZIHE g8  200,000,000&+3/100 6,000
02 s&=24| 100,600 0 100,600
O&Hl |XH 1,600
—RESE 200,000 *1CH =42 800
— X2l 200,000 *1LH =42 800
O=Fxtatel =28 | 24H]
1,000,000& 122 12,000
OR¥ER= 87,000
—3SJI 1,750&3%2,00021 123 42,000
—get 2502 *15,00024 122 45,000
303 Eaf= 1,000 0 1,000
01 Zats 1,000 0 1,000
O=&itEt BEelg d+=2&= 1,000,000 1,000
802 gtet=JIE 2,000 0 2,000
03 UHE=2s 2,000 0 2,000
O3t Mg Uy S#F=
400,000,000& *0.5/100 2,000
HY2IZH (LB RAZAIAFD) 46,609 0 46,609
IS (nSAY) 27,529 0 27,529
kal:] 27,529 0 27,529
101 el H] 27,529 0 27,529
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FA LEFATAIAFL
M AY2IIH(LERTAIA=L)
Chol: ol 2 il (DEAY) (=E R L
SA B ER(S) - MRAE - BaS Of &r e HIDE
03 RIAHAZZNE S 27,529 0 27,529
OFXE2E X3 212 25,106
2= 1,220,3603 x 1 «123 14,645
—d0=s 14,645,0002 x1H+4/12 4,882
— Xt 42,0802 x1& 19 800
—HESA=E 60,0002 «1& 12 720
—2HIKS 42,0801 H* 123 +9H+65/100 2,995
—AZAZRE  6,1303*1E*15A1 2123 1,104
O=FiE2L2 288 2,423
— M THEE 25,106,0002%10/1,000 252
—I8=2E 25,106,00024%13/1,000 327
—=2ld=3 25,106,00024%45/1,000 1,130
—2L=EE 25,106,000 %26.65/1,000 670
—LoRIIRAEE 670,000& *65.5/1,000 44
J=ZHI(LSAY) 19,080 0 19,080
22| 9,000 0 9,000
201 LBt 9,000 0 9,000
01 AR 2t2IHl 9,000 0 9,000
OFAMESIIZ22H] 7,560
—Let=EH| 40,0003 x7E *12& 3,360
—= 50,0003 x7E *12& 4,200
OSAD| &xt= 120,000« 10H* 123 1,440
1] 10,080 0 10,080
202 OdHl 10,080 0 10,080
01 =WHHI 10,080 0 10,080
gRFII|I=20YI 120,000 x7 & *12& 10,080
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